N.xkn. 1vV

Hapnb>xeH npocdmn no oc ynuum

V=2 V=23 V=4 V=25 V=250 V=7 V=38 V=9 V=10
Rec = 646.9 m Rec = 27206 m Recc = 594.0 m Rev=-1779 m Ree = 3336.8 m Rev = =382.9 m Rcc = 4154 m Rev = —=7238.0 m Rev = -1380.6 m
p=-461207 %| | = -109660 7% po= 516377 % | |p = 1723998 % g =-107677 7 L= 465365 % L= —4.28966 7% L= 0.36047 % po=153145 %
tg=14917m | fg=14917m tg=153%m | |tg = 15336 m tg = 17.965 m tg = 8909 m tg = 8909 m tg = 13.045 m tg = 10572 m
a=0172m g =004 m a=0198m a = -0.661m a =004 m a=-0104 m a = 0.09 m a=-0012m a=-0040 m
KM = 50.62 KM = 80.45 KM = 149.37 KM = 180.05 KM = 211.39 KM = 267.02 KM = 284.83 KM = 316.25 KM = 342.34
h = 660.390 m h = 662.657 m h = 668.651 m h = 672902 m h =6/1.843 m h = 670.562 m h = 669.522 m h = 668.485 m h = 667.695 m
L =29879 m L = 29934 m L = 30.870 m L =30.752 m L = 35944 m L =17.839 m L=17840 m L =26.101 m L = 21158 m
V=13
V=" V=12 Ree = 652.9 m
Roc = 16479 m | Rov = ~11520 m po= 189874 %
675 - = 130071 % = 183655 % tg = 6199 m
V=1 fg = 10.882 m fg = 10578 m 0 = 0029 m
674 —+ W= 2545892 7 a=0036m a=-0049 m KM = 489.49
KM = 0.74 KM = 363.49 KM = 391.89 h = 660.858 m
673 - h = 658.900 m h = 666.731 m h = 665811 m L =12409 m
L=21.780 m L=21175m
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